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RERE 4 FE SR PR EEER BB H B &
RIRE BEREL () 03B HE (FH) FrE (%) HER (%) HER () EE® (A
i B B RO5—R06 RO5—RO06 RO5—R06 RO5—R06
H B RO6 RO4 R05 RO6 RO4 RO5 R06 Hw RO4 R05 R06 W, R4 R05 RO6 iR RO4 R05 RO6 Wi
1 8| h O - 3 650 650 650 7.65 7.65 7.65 = = - - 25,790 | 25,790 25,790 = 16,610 | 16,610 16,610 -
2 WAL (@) = 3 650 650 650 8.02 8.02 8.02 = = = = 24, 800 24, 800 24, 800 = 17, 200 17, 200 17, 200 =
3 E B B O o 3 650 650 650 6.57 6.99 7.38 A & “ = 18, 200 18, 500 19, 500 A 20, 200 20, 400 21, 400 A
4 BB T (o) = 3 650 650 650 7.10 7.10 .79 A - - - 20,400 | 20,400 25, 800 A 14,500 | 14,500 17,100 A
b = H W O L 3 650 650 650 1.75 1.57 8.94 A = o = 21,900 | 27,700 31, 300 A 18, 000 17,700 20, 500 A
6 E #® H = o 4 650 650 650 5.50 5.00 550 A 28.70 26.80 | 30.90 A 23,600 | 23,700 25, 200 A 16,000 | 15,500 16, 700 A
i ® M W O = 3 650 650 650 721 1.21 1.51 A = = = 24, 500 24, 500 25, 340 A 16, 920 16, 920 17, 500 A
8 BB W (e] = 3 650 650 650 7.35 7.80 8.41 A = = - 21,040 21,800 23,720 A 22,900 23, 460 25,120 A
9 m B W o] s 3 650 650 650 7.56 7.81 9.31 A > - 2 28, 500 31,080 36, 480 A 18, 420 19, 800 23,160 A
10 E@EmE (e} - 3 650 650 650 7.10 7.30 1.70 A - = = 28, 600 28, 600 31, 200 A 19, 900 19, 900 20, 800 A
15 AN B O e 3 650 650 650 12 7.18 7.89 A 5 o & 24,963 | 25,368 28, 386 A 17,314 17,311 18, 507 A
16 WHEDH = (@) 3 650 650 650 7.24 7.24 7.24 - - - - 30,374 | 30,374 30,374 - 25,394 | 25,394 25,394 -
51 RA®® Ko ] 4 650 650 650 6.54 6.54 6.54 = 19.10 19.10 19. 10 = 21, 200 21, 200 21,200 = 22,400 22, 400 22, 400 e
52 mAW = @) 3 650 650 650 7.12 7.12 7.12 - - - - 24,300 | 24,300 24, 300 - 23,000 | 19,600 19, 600 -
53 KENEH o @] 3 650 650 650 8.00 8.00 8.00 = = = < 26,000 26,000 26, 000 = 21,000 21,000 21, 000 =
13 K 1L ET - (] 3 650 650 650 6.39 6.39 6.81 A - - - 26,800 | 26,800 29,100 A 18,500 | 18,500 19, 100 A
14 2 8 By = O 3 650 650 650 7.41 7.4 8.51 A < = = 29,993 29,993 32,588 A 24,362 24, 362 23,218 Y.
17 # F O = (e} 4 650 650 650 6.20 6.20 6.20 - 39.00 39.00 | 39.00 - 26,600 | 26, 600 26, 600 - 29,400 | 29,400 29, 400 -
18 53t EH URT 2 O 4 650 650 650 5.41 5.41 6.05 AN 10.40 10. 40 10.40 & 26,300 | 26,300 27, 300 A 20,300 | 20,300 21, 300 A
22 % & AT = o 3 650 650 650 3.00 3.00 3.00 - - - - 20,000 | 20,000 20, 000 - 20,000 | 20,000 20, 000
23 1 XK EH s O 3 650 650 650 7.00 7.00 7.00 = = = = 19, 200 19, 200 19, 200 =5 21,000 21,000 21, 000 i
24 WO B = (@) 3 650 650 650 7.85 7.85 1.85 = - = - 26, 000 26, 000 26, 000 = 25,000 25,000 25,000 -
25 [ HITR R i (@] 3 650 650 650 6.45 6.45 6.45 = = = = 23,200 23, 200 23, 200 = 21,100 21,100 21,100 =
40 # 8 H == o 3 650 650 650 4.40 4.30 3.40 v ~ = = 11, 800 11, 800 11, 900 A 12, 400 12,200 12,100 v
48 W R By = O 4 650 650 650 6.70 6.70 6.70 & 32.00 32.00 32.00 @ 24, 900 24,900 24,900 = 19, 200 19, 200 19, 200 =
49 5 5 Ay = (e} 4 650 650 650 5.30 5.40 570 A 31.00 31.00 | 33.50 A 23,000 | 24,200 27,000 A 16,100 | 16,700 18, 800 A
H # 2k
10 16 ATy 13 2 14 12
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RIRER RIS (F) OMBRKE [RUSKHEZIES] (HEH)

REgH 4 R ER PR BEHR BB H FH =
BRE BB (%) 03 Wz (Fm) A (%) REF (%) BEE () TE® (A)
E 5 BR R05—R06 RO5—R06 RO5—R06 RO5—R06
o B RO6 RO4 R05 RO6 RO4 R05 R06 Hm RO4 RO5 R06 Hm RO4 RO5 RO6 i RO4 RO5 R06 W
1 OB W (e} - 3 200 220 240 2.82 2.82 2.82 - - - - 9, 200 9,200 9, 200 - 5,930 5,930 5,930 -
2 W|E o - 3 200 220 240 2.70 2.70 2.70 - - - - 8. 600 8, 600 8, 600 - 6,000 6,000 6,000 -
3 E IR O - 3 200 220 240 2.48 2.69 2.81 A - - - 7,500 7,300 7.700 A 8,200 7,800 8,200 A
4 B oW o - 3 200 220 240 2.69 2.69 3.13 A - - - 7,700 7,700 | 10,400 A 5,500 5,500 6, 800 A
5 F AW o — 3 200 220 240 2.78 2.87 3.07 A - - - 9, 600 9,600 | 10,500 A 6,200 6, 500 6,800 A
6 - ) = e} 4 200 220 240 2.20 2.40 2.60 A 11.30 12.40 14.00 A 9,300 | 10,900 | 11,400 A 6, 300 7,200 7,600 A
7 C (e} — 3 200 220 240 2.78 2.78 2.87 A - - - 9, 250 9, 250 9,570 A 6,390 6, 390 6,610 A
8 BB W o - 3 200 220 240 2.80 3.11 3.23 A - - - 7,930 8,580 9,000 A 8,570 9,200 9,520 A
9 B H W (o] - a 200 220 240 2.35 2.97 3.17 A - - - 8,520 | 11,400 | 12,240 A 5,520 7,320 7,800 A
10 & B R & o - 3 200 220 240 2.30 2.50 2.70 A - - - 9,200 9,600 [ 11,000 A 6, 600 6, 800 7,400 A
15 N B & o - 3 200 220 240 2.74 2.82 3.26 A - - - 9,502 9,869 | 11,612 A 6, 149 6, 360 7,286 A
16 HHELS = (e} 3 200 220 240 2.25 2.25 2.25 - - - - 9, 665 9, 665 9, 665 - 7,701 7,701 7,701 -
51 RA®S - (@] 4 200 220 240 2.20 2.20 2.20 & 6.40 6.40 6.40 = 1. 200 7,200 7.200 = 7. 600 1,600 7,600 -
52 MAW - o 3 200 220 240 2.83 2.83 2.83 - - - - 10, 100 10,100 | 10,100 - 6,100 6, 000 6,000 -
53 Kk w = o 3 200 220 240 2.20 2.20 2.20 = = = = 7,800 7.800 7.800 = 6, 000 6, 000 6, 000 =
13 X 1L & BT - o 3 200 220 240 2.41 2.41 2.59 A - - - 9,900 9,900 | 10,900 A 6, 800 6, 800 7,100 A
14 A 4 1 By = (e} 3 200 220 240 2.42 2.42 2.42 - - - - 10, 351 10,351 | 10,351 - 8,088 8,088 8,088 -
17 # F AT = o 4 200 220 240 2.10 2.10 2.10 - 6.00 6.00 6.00 - 7,800 7,800 7,800 - 7,200 7,200 7,200 -
18 58 H AT - (o] 4 200 220 240 2.23 2.23 2.23 - 5.36 5.36 5.36 - 10,700 | 10,700 | 11,700 A 8, 200 8, 200 8, 700 A
22 £ ® AT - e} 3 200 220 240 3.00 3.00 3.00 - - - - 7,700 7,700 7,700 - 7,500 7,500 7,500 -
23 0 ox B s (o] 3 200 220 240 2.70 2.70 2.70 @ = o = 7,800 7,800 7,800 e 9, 000 9,000 9,000 =
24 o ¥ H - o 3 200 220 240 2.45 2.45 2.45 - - - - 9,000 9,000 9,000 - 7,000 7,000 7,000 -
25 Wi e e (o] 3 200 220 240 1.95 1.95 1.95 o = = - 7,300 7,300 7,300 e 6, 100 6,100 6, 100 =
40 # A - o 3 200 220 240 3.10 3.10 2.80 v - - - 8,100 8, 400 9, 600 A 8, 500 8, 600 9,700 A
48 AR R - e} 4 200 220 240 1.70 1.70 1.70 - 8.40 8.40 8.40 - 6, 600 6, 600 6, 600 - 5,100 5,100 5,100 -
49 5 M 5 By - o 4 200 220 240 2.10 2.20 2.20 - 12.70 13.00 13.50 A 9,500 10,500 | 11,000 A 6, 900 7,200 7,400 A
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REREHNFRIRE (B OBBRKRE [(H#2] (HETH)

R B MR PR BB H FH =
BRE BRE % () o7 e (Galz)] maE (%) REH (%) BEE () TEE ()
& 5 A= RO5—R06 RO5—R06 RO5—R06 RO5—R06
=] B R06 RO4 RO5 R06 RO4 RO5 ROG iR RO4 R05 R06 Him RO4 RO5 R06 R RO4 RO5 RO6 W
1 W O#® oW o] e 3 170 170 170 2.56 2.56 2.56 e e & < 9,970 9,970 9,970 e 4,910 4,910 4,910 o
2 LR NI o - 3 170 170 170 2.38 2.38 2.38 - - - - 9,200 9,200 9,200 - 4, 600 4, 600 4,600 -
3 E I B O - 3 170 170 170 205 3.16 3.09 v & £ = 9, 700 9,700 9, 700 = 8,500 8, 200 8,100 v
4 O W (&} - 3 170 170 170 3.04 3.04 2.74 v - - - 10,500 | 10,500 | 13,000 A 5, 400 5, 400 6, 500 A
5 F AW (o} = 3 170 170 170 2.97 2.89 2.93 A G = a 12, 200 12,300 | 12,200 v 6, 000 6, 000 6, 000 55
6 E R h - o 4 170 170 170 2.30 2.20 2.30 A 16. 00 16. 90 16. 80 v 12,000 | 12,300 | 12,400 A 6,100 6, 200 6, 200 -
1 ® M oWm O s 3 170 170 170 2.69 2.69 2.18 A = - = 11, 050 11,050 | 11,430 A 5,560 5, 560 5, 750 A
8 Ol oW o - 3 170 170 170 2.69 2.69 2.69 - - - - 7,760 7,760 7,760 - 6,100 6,100 6,100 -
9 m B W o] o 3 170 170 170 2.62 2.86 2.9 A = s - 11,220 12,720 | 12,240 v 5, 580 6, 120 6,000 v
10 K@ R H o - 3 170 170 170 2.20 2.60 2.80 A - - - 10,300 | 11,600 | 12,200 A 5,100 5, 700 6,000 A
15 AN B W O — 3 170 170 170 2.89 2.89 2.91 A 2 - = 1,11 1,171 | 12,464 A 5, 605 5, 605 6,124 A
16 HHEAF - (e] 3 170 170 170 2.25 2.25 2.25 - - - - 13,423 | 13,423 | 13,423 - 9,020 9,020 9,020 -
51 LGS 3 e o 4 170 170 170 2.10 2.10 2.10 = 6. 50 6. 50 6. 50 = 9, 600 9, 600 9, 600 e 6, 600 6, 600 6, 600 g
52 mAW = o 3 170 170 170 2.20 2.40 2.40 - - - - 11,500 | 10,500 | 10,500 - 6,300 5, 800 5, 800 -
53 S ¥ o (o] 3 170 170 170 2.40 2.40 2.40 i e o - 9, 400 9, 400 9, 400 = 5, 200 5, 200 5, 200 =
13 K Ll W BT - o 3 170 170 170 2.49 2.49 2.54 A - - - 11,400 | 11,400 | 11,200 v 5, 500 5, 500 5,500 -
14 A 1 By - (e} 3 170 170 170 1.86 1.86 1.86 - - - - 9,420 9,420 9,420 - 7,618 7,618 7,618 -
17 # F OE - o 4 170 170 170 1.30 1.30 1.30 - 4.70 4.70 4.70 - 8, 800 8,800 | 8,800 - 5,900 5, 900 5,900 -
18 56 H AT = o} 4 170 170 110 2.31 2.31 2.31 - 8.01 8.01 8.01 - 13,700 | 13,700 | 13,700 - 7,300 7,300 7,300 -
22 ¥ B A - o 3 170 170 170 2.20 2.20 2.20 - - - - 7,200 7,200 7,200 - 4,100 4,100 4,100 -
23 o o® Er & (o} 3 170 170 170 2.50 2.50 2.50 - - - - 10,200 | 10,200 | 10,200 ~ 11,400 | 11,400 | 11,400 -
24 O A - o 3 170 170 170 2.20 2.20 2.20 - - - - 9, 500 9,500 9, 500 - 5,500 5, 500 5,500 -
25 LRUE 5 - O 3 170 170 170 1.55 1.55 1.55 - - - - 6, 800 6,800 | 6,800 - 5,100 5,100 5,100 -
40 & R Er = (e} 3 170 170 170 3.60 3.30 2.80 v - - - 12,600 | 12,100 | 13,200 A 6,300 6, 200 6, 900 A
48 I F O BT = (e} 4 170 170 170 1.70 1.70 1.70 - 8.40 8.40 8.40 - 7,200 7,200 7,200 = 4, 300 4,300 | 4,300 =
49 E M5 HE - o 4 170 170 170 2.00 2.00 2.00 - 17.00 19.00 19.30 A 12,500 | 13,400 | 13,600 A 6,500 6. 900 7,200 A
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